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2019 (A) E éQz s
SSC PART-l (9th CLASS) '

MAEMATICS (SCIENCE GROUP) GROUP b -/ @l PO G
TIME ALLOWED: 2.10 Hours SUBJECTIVE ‘&I Za10 = &
MAXIMUM MARKS: 60 60 = Af

NOTE: - Write same question number .q_b;)‘;,c{.glr.@.g{ (,-,»/';ZJMJVJ,{QK‘}R R )
and its part number on answer book, as given in the question paper.
SECTION-| ;J:LA?

2. Attempt any six parts. 12=2x6 -é//u“!’é’?‘i&-d[ 2/ )y
() Find the productof [6 ~o][ } [6 _0][ } ép‘nfd’b ()
(i)  Findthe value of X _if [i ;] +x=[ ‘l '3] J&d» x & i)
(i)  Eviavate. ;27 7 gl (i
(V) Simpiy. 31,12, iy 28 5 W
(v  Wie log ‘/g into sum or difference of logarithm . :‘{;-.,FJJ/}LZLZM log #g (v)
(vi)  Find the value of x in log, 256 = x Oé/& el x £ logg2s6=x ()
” 8a (x l)
i) Reduce -2 o the lowestfom. Yo, Lt P e T (vi)
2(x° =1 /) 2
(vili) Rationalize the denominator TEi—ﬁ ‘ G% e AL m (viil)
(ix) Factorize. x* - 21x + 108 /042 21x + 108 édf- (ix)
3. Attempt any six parts. 12=2x6 é//ul'?é:‘]lié‘j)( -3/.)1:'
()  Define HCF, Ay 10
(i) Sobe [3x+10|=5x+6 |3x+10|=5x+6 -&JS (i)
(i)  Solvethe equation 32x-4 -2=0 Pox-d-2=0 -ESls (i)
(iv)  Define an ordered pair with an example. -éf-«}"wé’/.b(‘- ey (W)
() Verfy whetherthe point (1, 1) Helhy 2x-yi1=0 fl (-L1) BYEIF )
liesontheline 2x — y +1=0 ornot. s o
()  Define Colinear Points. SalEds i
(vii)  Find the mid point between (6, 6 ) and (4,-2) . ZPBleak (4,-2) A (6,6) W (Vi)
(vii)  What is meant by Congruency of Triangles? u’/v’eJVJw" (vii)

(ix)  One angle of a parallelogram is 130, gk J,w'umotémm 130° ALK GIgAPLI S ()
Find the measures of its remaining angles.
( 2l 0}) )



(2 @ . TV
4. Attempt any six parts. 12=2 Eferlnzed 4d)y

LIS 20 Yo Pt e A i AD & ABC .wc,wd,v{d,.

(N

(i)
(i)
(iv)

(v)
(vi)

{vii)

(wiii)

(ix)

5.(A)
(B)

The given triangle ABC is equilateral triangle and 4D is bisector of angle| A .
Then find the values of unknowns 'x%! "»“'and 'z%" A

‘0 yO

g ¥ O C

D
Whatwilbetheangle T b HASTRLL B dthe vt bic b e Bl
for shortest distance from an outside point to the line?
3cm, 4¢m and 7cm are not the -Q/.-.ausc.df: -@&{JWJLWL&J" Tem 5 4cm 3em
lengths of a triangle. Give the reason.

Define Proportion, LS
Define Pythagoras Theorem. ST ION
Find unknown * in the figure. sl x g pp
X
dem
Find the area of the given figure. 398 -Q/(PJ;(J’S::J:
Jem
_] Gé?‘
| “L. Ry
Define Orthocentre of Triangle. 7a . AP (AT Jpsl s
Construct a triangle ABC inwhich  mAB =32cm, m%ucm. mCA = 5.2em S 4 ABC &8

SECTIONAI (0.

24=8x3 - Ui 9 Uy 4
NOTE; - Attempt any three questions. Question No.9 is compulsory.
Solve by Cramer's Rule. 2x+y=3, 6x+5y=1 SIS ers§o Bl 4T
Solve the equation for x and . (3 - 2i)(x+yi)=2(x—2yi)+2i-1 -¢fd’¢ Y x fehis
Use log table to find the value of (438)°J0.056 R B

6.(A)
(8)
7.(A)
(B)
8.(A)

(B)

(388)*
.ép‘"afd’az +b% +c% ab+ be
if a+b+c=7 and ab+bc+ca=9 then find the value of a° +

ca=9x a+b+c=7ﬁ
2 2z

+ ¢

Factoize the folowing cubic polynomial by factor theorem. EoF83 MLt nlste
x -4x“4+x+6

Use division method to find the square root of the expression. LBt

ax* 41228 + 2
5(x -~

-12x + 4

Mmmmm.i%l_,=|_g 3)_x=,_%-qfd’f;,:,v

6
Construct APOR and draw the altitudes. Ll .u_{"{‘,ﬂ'ululyfh APOR
mPQ =6ecm, mOR =45cm, mPR =55cm
Prove that any point on the bisector of - brdiloe Uit & MM..?:LJ_.ﬁJrJ’ Uk

an angle is equidistant from its arms.
OR |
Prove that triangles on the same base -J0n4iz¢.f;-:uxxu(}ﬁﬂéd'a,l xéb;wﬁé.gzg‘? &L(q/.-z.e
and of the same (i.e equal) altitudes are equal in area.
29(SCIENCE GROUP);2019(A)-75000 (MULTAN)

(i)

(i)
(i)
()

(v)
(vi)

(vii)

(i)

(x)

Ferletvifeldf -2

(.5
(&)

().6
(&)
(.7
()
()-8
()

-8



2019 (A) @/ e
. ! SSC PART- (9th CLASS) .
MAMEMATICS (SCIENCE GROUP) GROUPAI  1s_ o/ (o/ U0) 1,

TIME ALLOWED: 2.10 Hours SUBJECTIVE . ¥~ &a10 = &
MAXIMUM MARKS: 60 680 = Af
NOTE: - Write same question number -q.w,u:.;./,gwﬁé L»/:?;,lf‘dlnﬁqu’dfi oY)

and its part number on answer book, as given in the question paper.
SECTION-I | J:l

2. Attempt any six parts. 12=2x6 -._;{,//::«uz&zlgaéf -2/:}Jlr
1 2 , 1 2
() Findthe procuct o | 2 3” 3 41 s 6‘][ 3 a] ErASe )
y -1 I_ : 11
Y i 4 Ed b A ot [0 0 A @
thenfind < and 5 .
(ii) Findthevalueof x and y if x4y +l=4-3i JEwIS y wx )
(V)  Simpiy. [55,0n &n Jasdondm _LF g
Q s b
(v} Write 2log x - 3log y in the form of single Ioganﬂ%& -JJ‘P\,{(‘:‘!’»'J2 logx —3logy (v)
-
(V) Find the value of x if logg x = 13 0/0/){; il x £ loggyx= '72 (vi)
J
" 12052325 w1205 )’ 2 .
(vil)  Reduce oo [0 thelovestfom. ngf)’ A prereal
(vili}  Simpify. V243" 10,15 ’f‘ {}243r5yl°"5 -é/é’ (vii)
(x) Determine if(x — 2)is a L P-4 e 28¥ -2 P W
factor of x° — 4x% + 3x + 2
3. Attempt any six parts, 12=2x6 éxj.,wz.wc.éf 34y
()  DefineLCM. Eapboes o)
(i)  Solve the equation. |2x + 3| =11 |2+ 3|=11 LS i)
(i) ~ Solve the equation. 2/ +4 = fr—1 Prid=Jim1 & (i)
(iv)  Define Coordinate Axes. Sy )

ér}".ﬁé’c Amelilt y=msc {x-2y=—22tf W
(V) Findthevalueof m and ¢ oftheline x -2y =-2 by expressing theminthe fom y = mx + ¢

(vi)  Define Co-ordinate Geometry. LAy )
(vil)  Find the distance between the given EPUigenl B(-4,-3) A(-42) 1BLL (i)
pairof points  A(-4,42) | p(-4,-3) A ¥
(vii) State AS.A postulate. .é:uk-;:‘r s (v
(i)  Define Paralielogram. Eaeensr (i)

(3'..' Jﬂ)



=t%]

4. Attempt any six parts. 12=2x6 ifenlingedl s
()  Define right bisector of a linesegment _ LlaManslss @ )
(i) Explain that the given lengths can be the lengths LBl s W fslgfeots G
of the sides of a triangle or not. 2em, 3em, Sem P
(ii)  Define Proportion. NS R ()
‘it Nfiatg St . ¢ =13em o b=12cm «a=3cm WSl el W)
(v)  Veriy that the triangle having the following measures of the sides is right a=5cm b=12cm
and ¢ =13cm ¢ j
(v)  State Pythagoras Theorem. -c.{/-—'!/\fé/f b v
(i)  Define Rectangular region. IS5
Goem
(vi)  Find the area of the given figure. 3em B/ /()"-?'l‘f )
(vii) Construct a triangle ABC in which mAB =3.2cm, mBC = 42¢m, mCA =52cm B uABC &S (vii)
(x) Define incentre of the triangie. I fSdunlAL el ()
SECTIONAI (.2 ,
24=8x3 TR Vs L ferpletnfe 8 29

NOTE: - Attempt any three questions. Question No.9 is

o

pulsory.

5(A) Solve by Cremer's rule. 2x -2y <4, &’)x +2y=6 M fenboiil £/
.
(B) Solvefor x and V¥ (2 —3i)(.\'+%4+i .‘,(fpl‘lf‘-‘d’ y o x
BT 0 Lol bl
6(A) Use log tabl o find the valve of = s Epredeulluf
G
1 2 "j 2.1 1.3/
B) Ifx+—=3thenfind x"+ 3 Lpdl P Wxe_=3 /1
X b

Factorize the folowing cubic polynomial by factortheorem. -G£
X +x%-10x +8

Use division method to find the square root of the expression.
¥ 102 +37x% -

|x+2|-3=5-|x+2|

7.(A)

(B)

8.(A) Solve the following equation for x

47 .
For the given sides construct a AABC and -uj{.?tﬁuw&w/:

draw the bisector of their angles.  mAB = 4.6¢m, mBC = Scm, mC.

(B)
A

Prove that any point equidistant  -6xClz it 5 el
from the end points of a line segment is on the right bisector of it
OR |

-qu"!gﬁém (ymasl 5)‘&0’ L)U.ﬂ 8 |!UVAL UO{L"?&WMBM& J(l&
lines (or of the same altitude)

vaematpaalelogramsonthesamebaseandbemnmesameparal

223 S St nlsiy

EPB i
LSl

60x + 36

Wk adBC LA nés

=S5.lem

AR 14 S0370"

g Epnb s St

are equal in area.

31(SCIENCE GROUP)-2019(A)-56000 (MULTAN)
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FAFER LUDE 2019 (A) 4 8/
‘ ’NUI' (BER: 1191 SSC PART- (9th CLASS) e

MATHEMATICS (SCIENCE GROUP) GROUP- b -l (o ) 1

TIME ALLOWED: 20 Minutes OBJECTIVE ;ﬂ:ﬁ.ﬁ er20 = o
MAXIMUM MARKS: 15 15= AF

Ho ) Zv./i:-u;u».},w&.,m.:_-,.c_.,: u-;ué{,:&v.ﬁdom{‘;(w -GLL D s CBIA Rl L Sy
£2gdmn -(Lg}:;ﬁfﬁ’d/.ﬁ.:.afgfi_/.ué szt -fnn"w.,.'xu!ﬁut.;-‘f;,‘l./f{ vy L/.éfur?’ml_.)e-p -2

Note: You have four choices for each objective type question as A, B, C and D. The choice -J,/.':J'?}.-.mr

which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fiil the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

Q.No.1 A Ay

(1) The order of matrix [2 1] s <26 [21] K& ()
(A) 2 -by -1 B) 1-by-2 IC) 1-8y-1 O 2-pp-2

(2) Write I/ in exponential form. 1 - -4".,:4»,5/,5/ = @
(A) x 8 x () « (D) x2

(3) The logarithm of any number to itself base is-- b b AN )
(A) 1 (8) 0 () -1 (D) 10

(4) :b is equal to:- @O’ ~& il "; ; :2 (4)

(A (a=b) (B) (a+b) (C)(/‘-&/& D) a-b

(5) Find m sothat x> + dx + m is a complete square. S'/ ol 1 2 rdxem 4_&.;.2;/:[ m (5
(A) 8 (B) -8 (C) 4 ‘Q.. (D) 16

(6) The square rootof a® — 24 + | is:- % .95/1,,2,( a*-2a+1 (8)
(A) £(a+1) B) *(a-1) (C) a-1 (81)4”

(7) Ifthe capacity 'C"* of an elevator is at most =y 1800 whic | C* gl (M)

1600 pounds, then

(A) € <1600 (B) C=1600 (C) € <1600 (D) € >1600

(8) M (x,0)=(0, y)then (x.y) isequalto- et (x, 0)i (x0)=(0, )/ (g
(A) (0,1) (B)(1,0) (C)(0,0) _D)(1,1)

(9) Atriangle having al sides equal,is called:- < 0 oIS EL P )
(A) Isosceles o=Li> (B) Scalene ¢l s (C) Equilateral Lo fs- (D) Right angled .s/245 L

(10) Inatriangle, therecanbe right angle. -,LJC w gLl (10)
(A) Onlyone Lii” (B) Two s (C) Three & (D) Four

(11) In a paralielogram opposite angles ae “Jln e REE g (1)
(A) Non parallel $17# (B) Unequal 4.zt (C) Vertical (51, (D) Equal 'z

(12) The right bisector of the sides of a riangle are . Al snglieilaty (12)
\A) Concurtent &4 (B) Equal <z (C) Notconcurent (&5 (D) None of these. (fe. £

(13) Symbol used for similarity is : 0 ed L (13)
A) = B8 ~ € A 0) 2 .

(14) _____ ofa parallelogram is -q.fin/w'z.é.,?d’ WLl (Ktwagips (14)

equal to the product of its base and altitude. r

(A) Area (8) Length i1/ (C) Width (422 (D) None of these (&% Lo

(15) The diagonal of a paralielogram _____eachother, LS s LHLL e (15)
(A) Perpendicular s+  (B) Trisect &.t" (C) Bisect at right angle #"§»* (D) Bisect <"

29(SCIENCE GROUP)(Obj)( W J-2018(A)-75000 (MULTAN)



2019 (A)
SSC PART-l (9th CLASS)

vy

PAPER CODE

' NUYBER: 1192
MATHEMATICS (SCIENCE GROUP) GROUP-II - (osf O
OBJECTIVE (.0

TIME ALLOWED: 20 Minutes 20 = =2
MAXIMUM MARKS: 15 15= A
Aech L ARSI L p e u:}‘:&:é..-&‘»ﬁdlnf{éﬁ}ll -sLispsCcBA sl Mg -te?

it Wb R e S S22 Fnsn ~Enr P RS i R SL T Sk \ LS stk i s
Note: You have four choices for each objective type question ae A, B, C and D. The cholce -/ /= s sl
which you think is correct, fill that bubbla in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark Iin that question. Attempt as
many questions as given In objective type question papor and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not soive questions on this sheet of OBJECTIVE PAPER.

Q.No.1 : A Ay

(1) Productof [x y ][ _;] is equal to'- =i x y ][ ] JWs )
(A [2x+ ] B8 [x-2y] (C) [2x - y] 0 [x+2y]

(2) Realpartof 2ab(i + i*) is- o BY 2ab(i+%) 45
(A) 2ab (B) - (C) 2abi (D) —2abi _

(3) The logarithm of unity to any base is:- -4.!‘::4’4& (’fb’i( L} 4uuu; (3)
(A) 1 (8) 10 (C) e 0

| 1
“ a‘-h-u:-b oo O& =t a-b a+b @
2 -2
*) 0—2_"7 ® ;,f_% © —3;‘» D)=

(5) Factorsof Sx? —17xy — 122 are- ‘Qegbinl S -1y =12y (5
(A) (x +4y), (5x + 3y) (B) (x=4y),(5x-3y)
(C) (x = 4y), (5x + 3y) (D) (5x = 4y). (x+3y)

(6) What should be added to complete the square of x* + 64 ? vz_wcf//vffz.gt_f&g‘; Hesd (g
(A) 8x2 (B) —8x? (C) 16x° (D) 4x?

(7) x=0 isasolution of the inequallty. e dherflobod x=0 @)
(A) x>0 (B) 3x +5 <0 C)x+2<0 D)yx-2<0

@8 If (x=1Ly+1)=(0,0) then (x, y) is equal to:- etz (2 y) Im(x=1y+1)=(0,0) A (8)
(A) (1,-1) (B) (-L1) €) (1, 1) ©) (=1, -1)

(9) Aline segment has end point/points:- e LB (9)
(A) One [ (B) Two » (C) Three £ (D) Four g

(10) A ray has end point/points;- Sl LURLT  (10)
(A) Three £ (B) One i (C) Four U (D) Two »

(11) In a parallelogram opposite sides are vla_ Qunellwndis (1)
(A) Conguent Ji> (B) Non-congruent 1724 (C) Pependicular »# (D) Nor-paraliel $773

(12) The bisectors of the angles of atriangle are gl unlypglets’  (12)
(A) Equal L (B) Perpendicular »  (C) Concurrent 5% (D) Equidista_nt M 35

(13) Aline segmenthas _____ midpoint, <bufl WS (13)
(A) 1 (B8) 2 ©) 3 D) 4

(14) Area of figure — ist- <K — f (14)

4cm 4em

(A) 20cm” (B) 8cm” () 64cm® (0) 16cm®

(15) The medians of a triangle cut each other inthe ratio . .t Z /] C‘L’-’JJ _ demligeslal (15
(A) 2:1 (8)1:3 (C)1:4 ) 1:1

31(SCIENCE GROUP)(Obj)( 77 )-2019(A)-56000 (MULTAN)



